PEREREITHEREER

L5 FIEE FH PR 2 =) ¥ wLBEWAerE 307°
/- VIR EIFE: 26kn
ﬁ”is{gﬁ’{ﬂiﬂz%: 82000§2008056010008351 BERX (L) BOL SR (305, i
oV ATIE A 200+2026 4F 05 3 21 H W TS
y E:Uﬁéﬁi: FNEE LR EASHET . B 1R BRIL B R fER BTz,
ERATM ., JZPE 47km, ELPE 26km
ey b 4 T - —
WENGX Gk B A7 shi | ZTEER: ABEH
(D Ty X CHFm) RF LS. 522725207 %A | KIEHAZFR: S1(F A
FTEATHIX: BRE (2) | BE/KUEHBEERS: 0. 66
B IX ARG s B L AR S AR AR 7K i R -
ééx B, 4 5 i Vi \die
skl o MEE| EAMED TWED
S o y ' FEALMEEES: 7. 10km
R AR (L E R AR
HN G R B LA SR B AR
MEBEEZE EAFZHET . BT MR & WET  HAKED FEED
B4 TAEAR RS ). 2021 4 12 B 1 HE 2024 VKGR BMEREE EAFZFHET . B
B |43 H31H : : RIS
TR | RERE: 2024 44 H 28 H FART LKA mREREhA R
AR | Ranipdr & RIRE: AR RE M BLH MR A B B R T bk ILTE
WS | FEpE TR 4590344, BIF 25598. 37n. A POs: 27.06%; F: 2. 56%.
2 HEMAS: MgO: 3.66%; SiO: 2.45%; CaO:
(3) 45. 26%; Fe,0,: 0.19%; AL,0,: 0.13%; H.P (/&
ANEY) : 6. 04%.
BENE: BiR BRARE: BERT: +280~-200m
RIFEAE: KB Wik i 2R AR
% Wi R AR ppe LAR@ PE0 RO BERED
B IR gE | TR CERTRAD iR
?;i 1 2690m By | Bl wme ] Feel BRRED
(B % (GEIR) : 1870m K% | iz,
= _
y | BE: 14100 ' f O ERHFD WEND iz
YEE fim) . 141° (5) o
4y | BR: 16° AR ] EAMEED
/MR : 574m K Hb T Ak
e [N meo %0 240
0 il e B RE/K & 9920 LK/ H
T § 5 3 iE 3 97K B 9440 753/ H
kv [N TREH R & R EARAF KM TEHM
ok | W AL AN
e SRR FRHR: BRO WFA BFR-HF]
pri 5 JC/ W T/ TG/ Wi FIB R (IR -




IR %S

| e/

JT/M

| e/

WEIM: SUNER RERAIZ IR ER

) A
W& [ antia: 2024 4 A 29 B i
W% Crezzam (8)
TS

FE A ——

55 RIREERIEETT X (L) BXE:
Eemo ExE(V]

i

W ERT AR (9)

T ERERREEEER. 202444 8 150)
U RIEE (FRE+280m~-200m) N Bt E IR A (R % IEE 10708 /N, HA#REA%IEE 2082 7,
ot TR R 3482 7o, HEWTYRUREE 6144 FiME. IR (F) HEWTRIRE 2741258 M,

Gt R R

—

W =R P — \‘WEng_?éﬂ WREEHS | FEREREE | REVE | BitEHY
(FF=HE) §$§1ﬁ L (8%) | RREHRF &3t} RIRGEE | mRIEEE
1 2 3 4 5 6 7

A5 E
e 3 ; BRACET i Lo
B IR (o P205 T4 Sodee
22 A T 711 % B 27 06% HRHRIFEE 20820 20820
THITIRE 34820 34820
HEMT IR E 51440 51440
AHEEY T BETE
L (R A7) VA T Y 2. 65% 2741. 258 | 2741. 258

=
B
N
p=i|




